
Multiply and Divide by 10⁻¹ (G)Find each product or quotient.
5.89 ÷ 10⁻¹ = 5.8 ÷ 10⁻¹ =
6.86 ÷ 10⁻¹ = 1.7 × 10⁻¹ =
2.029 × 10⁻¹ = 6.292 ÷ 10⁻¹ =
8.2 ÷ 10⁻¹ = 4.25 × 10⁻¹ =
8.1 ÷ 10⁻¹ = 8.735 ÷ 10⁻¹ =
3.9782 ÷ 10⁻¹ = 0.8 × 10⁻¹ =
8.5 × 10⁻¹ = 5.128 × 10⁻¹ =
1.29 × 10⁻¹ = 5.3 × 10⁻¹ =
0.6402 × 10⁻¹ = 2.13 × 10⁻¹ =
2.1351 × 10⁻¹ = 4.1 × 10⁻¹ =
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Multiply and Divide by 10⁻¹ (G) AnswersFind each product or quotient.
5.89 ÷ 10⁻¹ = 58.9 5.8 ÷ 10⁻¹ = 58
6.86 ÷ 10⁻¹ = 68.6 1.7 × 10⁻¹ = 0.17
2.029 × 10⁻¹ = 0.2029 6.292 ÷ 10⁻¹ = 62.92
8.2 ÷ 10⁻¹ = 82 4.25 × 10⁻¹ = 0.425
8.1 ÷ 10⁻¹ = 81 8.735 ÷ 10⁻¹ = 87.35
3.9782 ÷ 10⁻¹ = 39.782 0.8 × 10⁻¹ = 0.08
8.5 × 10⁻¹ = 0.85 5.128 × 10⁻¹ = 0.5128
1.29 × 10⁻¹ = 0.129 5.3 × 10⁻¹ = 0.53
0.6402 × 10⁻¹ = 0.06402 2.13 × 10⁻¹ = 0.213
2.1351 × 10⁻¹ = 0.21351 4.1 × 10⁻¹ = 0.41
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